FH6FE BrR3ZFRE A 78R

SFI6E4LH
H2EH THESS T &S T HEEEM)
482H £ B I EFTRE . IREREREEERESH LY 30,000
4848 £ B BISEFEHRBEHEEBETRIENBESSR) 12,000
4848 £ B FEEEITHRERES 7,000
48200 B HABERER HEICRLIFH 5,000
B&EFUD) 4 54,000
2 FUP 4 54,000
SHI6E5 5
H2EH THEL THES XHEEEA)
48198 = B HENZLBELSBTS ETRIENEE2R) 15,000
48308 s B HENEISKRARESBESETRIENBE1R) 6,000
5H2H s B AR RITERERES 6,000
5H2H & BEZEFERES 10,000
587H s B BEXERSRBESERXERE 8,000
5H16H = B AT TEMAERBEESRSE(BTRIENBE2RA) 24,000
58270 F B HERER HECERLITH 5,000
5831H B BEEER HEICFLERE, BER 19,800
B&EFUD) 8 93,800
2 EUH) 12 147,800
SHI6E6 5
=] THOX S THES THEEEA)
5H88H = & HELAFAELDERX RS 2,000
65108 =z & EEXERERFS 5,000
B&EFU) 2 7,000
2 EUH 14 154,800
SHI6E7H
#2ZH THOX S THES THEEEM)
58158 = & A BRSAA XIS TREES 5,000
6848 = B BIEMETREFE 6,000
7H8H = B HENBISEFEHEERS 3,000
7H9H8 % 4 FUEXHEE 10,000
A& 4 24,000
2 EUH 18 178,800
BHI6ESF
=] THOXS THES THEEEMA)
784H = B AR RITBERERE 6,000
8H16H = B AR IABEERTBE 7,000
8H18H B H BEXER HMEICRITH 5,000
8H20H F B BEER MEICRDEE. 525 19,800
A& 4 37,800
2 EUH 22 216,600
FHI6E10A
=] THOXS THES X HE5A)
7H26H = B SR EBA®YIVE 2,000
8H26H = B 2EARDFELHI V2024 RS 10,000
8H27H = B I EEHETH B E FE&E ERa R MEOREHRES 10,000
98 18H = B ARRET REFIE 6,000
9H26H = B SEHEELDOBEHRE 2,000
98278 = B JADSC HDEIRES 5,000
10818 = B PR TREBRS 9,000
108 7H = B Iz EE. I EROERERASEZEY 30,000
A& 8 74,000
£ EU) 30 290,600




THIGE1H

FEEE] THORSH THES T HEEEM)
11A8H £ B hE A RRE 5,000
B&EFUD) 1 5,000
2 EUH 31 295,600
SRI6E12H
FEEE] THORSH &S XHEEEA)
118158 s B SALABEMBLDE 15,000
118198 s B AR RITERIERRES 6,000
128178 B HEIMNEER #fiEICRIEHR 5,000
B&EFUD) 3 26,000
2 FUP 34 321,600
SFI7E1H
FEEE] THORSH &S XHEEEA)
10A2H s B ik E R iR RS 2025 FE HEDEL 5,000
118298 s B '%%E%;%Fﬁ%ﬁfﬁaﬂ EE 10,000
12A9H s B IJ.IEEIE/E? HES 5,000
128198 s B AT BOR RS 6,000
1H16H i & HAFHIR (FE20H) 5,480
1H24H i & HAFHIR (E40H) 5,480
1H27H i & HAFETR (E10H) 5,080
1H31H & HAFFH R (E3LH) 5,350
B&EFU) 8 47,390
2 EUH 42 368,990
SHI7E2 8
fEE=] THOXS THES THEEEM)
12H24H = B IFEEMFEZEESERESLDEREBHRS 2,000
128248 = & RTFHEEZERNER 6,500
1H7H = & HIITEEXRRES 15,000
FESRRE) 3 23,500
2 EUH) 45 392,490
SHI7E3H
H2EH THOXS THES THEEEM)
1H21H = & Al g RIS 9,000
3858 = B EEAARESRES S 18,000
3A16H = B A BO0—4)—9SJ8IE50EEREEHES 10,000
FESRG) 3 37,000
2 EUH) 48 429,490




